
GEM

W90A-150-070W-A 
W90A-160-070W-A 
W90A-170-070W-A
W90A-170-075W-A

WMA-W90A-150-070W-A

ENG • RUS



2

English

Installation 
instruction

Attention! The product is delivered 
in disassembled form, with separate 
articles! 

Attention! Installation of the ware 
should be carried out by two qualified 
specialists.

The dimensions on the drawings are 
indicated in mm. Deviation of the actual 
size of acrylic components, relative to 
the declared on the drawing +/-7 mm 
per 1 linear meter. Dimensions of the 
room for the installation of the bathtub 
should provide technological gaps +5 
mm from each side of the bathtub (for 
the linear expansion of plastic under 
the influence of temperature/weight of 
water).

Bath installation 
requirements

Installation of the bath without a frame, 
as well as with a modified frame is not 
allowed. The legs are used to set the 
level of the bath and adjust the gap 
between the bath panel and the floor. 
The bathtub should be installed on all 
legs of support to eliminate uneven 
distribution of load and, as a result, the 
appearance of micro-cracks in the body 
of the bathtub.

During  installation of the bath it 
is recommended to avoid dirt and 
construction dust on the surface of the 
bath. Becaus it may lead to scratches 
on the surface of the bath, during  non-
professional cleaning.

In case of installation of a bathtub, or 
installation near a bathtub of subjects 
so that access to a bathtub for service 
and repair will be limited, works on 
ensuring access to the equipment are 
made at the expense of the consumer!

Installation kit
• Acrylic bathtub (without installation  kit) 

purchased separately
• Metal frame (with installation kit)

purchased separately
• Front panel (with installation kit)

purchased separately
• Container with a lid

purchased separately
• 

purchased separately
• Side panel (with installation kit)
• Not available to purchase



3

English

Before using, it is necessary to connect 
to the sewer (the device drain-overflow 
is not included into delivery set). 
To prevent moisture under the bath, the 
joints between the bath and the wall 
must be sealed with sanitary silicone. 
Fill the bath by ¾ of the volume and seal 
the joints between bath and the wall 
with a silicone sealant (not included in 
delivery set). It is better to use sealant 
that meets the properties of PH-
neutrality, colorlessness. 

Attention! Sealant needs some time to 
harden. It is forbidden to use item within 
24 hours after installation.

In the case if installation of a bathtub or 
installation near the bathtub wares in 
such a way to the bath for maintenance 
and repair will be limited, work to ensure   
should be payed by the consumer!

Product 
maintenance

Attention! 
For correct operation of the system 
it is required to install puriification 
filters at feed pipelines with degree of 
purification of 100-300 micron.

• For the avoidance of damage of the
surface of the product it is not allowed
to use water of temperature more

• Use only mild detergents and soap for
cleaning of the item.

• Do not use corrosive washing agents or
abrasive pastes for cleaning of the item.

• Accute contamination on the surface
is reccomended to treat with diluted

• Shallow scratches (for acrylic parts

grid sandpaper (grade 2000).

Producer has a right to introduce 
change of component parts that has 

-
ity of product. All parameters indicated 
in this instruction have formal meaning. 
Producer reserves the right for technical 
changes.



4

! 

, ! 

.

. 

, 

+/ .

+
(

).

. 

. 

, 
, 

, 
.

. 

, 
. 

, 
, 

, 

, 

! 

•  ( )  

• ( ) 

•  ( )

• 

• 

• ( )



5

-

-

-

-

-

-

• -

• 

• 

• -
-

• 

-

-
-



6

Bath             W90A-150-070W-A
Front panel            W90A-150-070W-P
Metal frame            W90A-150-070W-R
Container with a lid           W90A-070-070W-C

W90A-150-070W-A
W90A-150-070W-P
W90A-150-070W-R
W90A-070-070W-C

Bath             W90A-160-070W-A
Front panel            W90A-160-070W-P
Metal frame            W90A-160-070W-R
Container with a lid           W90A-070-070W-C

W90A-160-070W-A
W90A-160-070W-P
W90A-160-070W-R
W90A-070-070W-C

Bath             W90A-170-070W-A
Front panel            W90A-170-070W-P
Metal frame            W90A-170-070W-R
Container with a lid           W90A-070-070W-C

W90A-170-070W-A
W90A-170-070W-P
W90A-170-070W-R
W90A-070-070W-C

Bath             W90A-170-075W-A
Front panel            W90A-170-070W-P
Metal frame            W90A-170-075W-R
Container with a lid           W90A-070-070W-C

W90A-170-075W-A
W90A-170-070W-P
W90A-170-075W-R
W90A-070-070W-C

Gem 
W90A-150-070W-A 
W90A-160-070W-A 
W90A-170-070W-A 
W90A-170-075W-A 

ENG Bath
RUS



7

338

52

50

46
4

33
0

61
0

1385

1014

710

1491

69
1

52
52

32
1

40

1316
1013
707115 76

39
1

38
1

58 58

128°

1486

1141

872

61
0

46
4

33
0

50

52

338

69
1

1591

52 32
1

58 58

40

1416

1146

870115 76

39
1

38
1 128°

52

338

52

50

46
4

33
0

61
0

1585

1214

910

69
1

1691

52

128° 52

32
1

58

39
1

1516

1213
907115 76

38
1

58

40

1586

1242

975

75

52

60
0

44
8

33
0

338

75
0

1700

52

128° 52

32
1

94

39
1

1516

1213
907115 76

38
1

94

40



8

1

9
8

11

5

3
4

15

13

12

6

2

14

7

10

18

16

1719

Bathtu component

01 bath ×1

Fron pane components

02 front panel ×1

03 bracket for shelf ×2

04 ×2

05 3,9 1 ×2

06 decorative cap ×2

07 bracket - ×2

08 washer 12 12 ×4

09 nut M12 12 ×4

Meta fram components

10 metal frame ×1

11 nut M12 12

12 washer 2 ×8

13 leg ×8

14 ×4

15 stud M12 12 ×4

17

18 dowel 8x40 8 40

19 DIN571 screw 
5x40  5 40



9

Bathtu component

01 bath ×1

Fron pane components

02 front panel ×1

03 bracket for shelf ×3

04 ×3

05 3,9 1 ×2

06 decorative cap ×2

07 bracket - ×2

08 washer 12 12 ×4

09 nut M12 12 ×4

Meta fram components

10 metal frame ×1

11 nut M12 12

12 washer 2 ×8

13 leg ×10

14 ×4

15 stud M12 12 ×4

16 stud M12 ×2

17

18 dowel 8x40 8 40 ×8

19 DIN571 screw 
5x40  5 40 ×8

9

3

8

6

10

4 52

7

161413

11

1512

17 1918



10



11



12



13



14

1
0

-1
9

 m
m



300

500

350

400

– Вывод канализации
Sewage outlets

15



AM.PM Europe GmbH  
Torstrasse 177 D-10115 Berlin
www.ampm-world.com 12/2019




